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(2) Simple calculator is allowed.
(3) Graph paper will be given on request.

What is Linear Programming ? Explain its mathematical Form. 6
OR

Explain following terms :

Objective Function, Constraints, Optimum feasible Solution.

Solve the following Linear Programming problem by using the graphical method.

Maximize Z = 15x + 10y -

Subject to 4x + 6y < 360; x<60,y<40 xmy=>0 8
OR

A milkman wants to purchase cows and buffaloes. He can accommodate at the

most 20 animals in the available space. The daily expense on food and grass for a

cow is T 5 and that on a buffalo is ¥ 8. The milkman can spent at the most T 136 a

day. Each cow gives 5 litres milk and each buffalo gives 8 litres milk everyday.

How many cows and buffaloes should be purchased so as to get maximum

quantity of milk ?

State different method for solving transportation problem. Explain any one of

them. 6
OR

What is transportation problem ? Explain its mathematical form.

Solve the following problem by using any two methods and find the total

transportation cost : 8
' l (1 I IV | Supply
4 A 5 10 6 13 10
B- |9 7 2 3| 1%
C 3 11 8 13 3
Demand | 6 7 5 2 | 20
OR
S P.T.O.



Solve the following problem by using any two methods and find the total

transportation cost.

P Q R S | Supply
A 6 18 10 16 14
B 12 9 7 1 17
L 8 S 10 14 1]
D 17 12 20 19 8
Demand ' 20 9 13 8 | 50

3. (a) Write short note for replacement theory.

OR
What is assignment problem ? Explain its mathematical form.

(b) Solve the following assignment problem so as to minimize the time.

Solve the following assignment problem so as to maximize the sales.

A B C D
P | 41 72 39 52
Q [ 22 29 49 65
R |27 39 60 51
S |45 50 48 52
OR
Units
Salesman E y Q _R S |
A 411 412 413 414
B 414 415 416 417
C 415 416 417 418
D 418 417 416 415

(¢) The purchase value of a machine is ¥ 10,000 and its resale value i1s T 500. Its
mainténance cost as follow. Then after how many years it should be replaced.

The cost price of a machine is ¥ 14,000. Its yearly maintenance cost for first two
years are I 1,200 and then it is increase by ¥ 1,800 every year. Determine at

which year it is profitable to replace the machine.
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6

Year l 2 3 4 5 6 7
Maintenance Cost () | 300 | 900 | 1500 | 1700 | 2100 | 3600 | 3800
OR

4



(b)

(c)

Explain the meaning of PERT and give its characteristics.

OR
Explain the following terms with reference to PERT activity, Event, Expected

time, Dummy activity
Draw PERT chart for the following :

Activity

A

B

C

D

activity

1

Predecessor | -

A

A

B

B, C

Time

5

—

OR
Draw PERT chart for the following :

Activity

1-3]_2-3‘

2 it

34

445

Ky

>-6

Time

152'

14

6

7

3

9

f

3

2

Determine Float time for each of the following activities :

Activity

| -2

1-3

2-4

3 e

Time

14—

6

15

12

%

9

15

==

OR
Determine float time for each of the following activities :

2, "W
i w-—— 4 -

18

Activity

1-2

2-3

Time

2

4_L3_| 2

3ba [3hs

4-6

5-6

6-7

4

|

3

e —

5. (a) Answer the following questions selecting the proper alternative.
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(1)
(a)
()

(i)

horizontal, right

The graph of x> 4 is a

horizontal, left

(a)
(b)
(c)
(d)

Hungarin method

(b)
(d)
(2)© (1) . Tosolve transportation problem,

line and

North-West comer rule
Vogel's method

Matrix-minima method

side of it.
vertical, right
vertical. left

method is best method.

In transportation problem having m rows and n columns then no. of

possible feasible solution

(a)
(¢)

m=n

m+n-|

-

(b)
(d)

m-+n

None of these
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(3) (i) Inassignment problem no. of rows and column must be
(a) unequal (b) * equal
| (¢) wunequalorequal (d) Noneofthese
(i) In Assignment problem the value of allocated units x; is
(@) Oorl - (b) zero | ’
(c) one (d) None of these . '
(4) (i) Foranactivity3t =t =2t =30 then expected time is

(@ 10 (b) 30
() 15 (d) 100/6
(ii) The EST for any initial activity is
(a) zero (b) O0+t,
©) t (d) LFT-t,

(b) Answer the following (any three) :
(1) State the name of methods for solving li
(2) State the difference between
problem. - :
(3) Under which assumptions we di

(4) For an activity EST = 20, Ti
LFT.

. N
' e}°

blem? N
5, Float time is S, then find
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